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Code-B

Question

No Questions
Part-A (Physics)
1. The blue colour of sky is due to
/ (1) Reflection of light (2) Refraction of light

(3) Scattering of light (4) Diffraction of light

2. If two coherent sources of intensity ratio 25:1 interfere, then the
ratio of intensity of maxima and minima in the interference pattern
will be
(1) 3:2 (2) 94
(3 51 (4) 25:1

3. Nuclear force between two nucleons depends on their

| (1) Mass (2) Charge

(3) Spin (4) Both (2) and (3)

4, Charge on a n-type semiconductor is
(1) Zero (2) Negative
(3) Positive (4) 10-°coulomb

5. If a zener diode has 9.1 V break down voltage with a maximum power
dissipation of 273 mW, then maximum current that can pass through
zener diode is
(1) 40mA (2) 30mA
(3) 20mA (490 10mA

BPH-EE-2019-Code-B |
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Question Questions
No.
6. Lenz's law in electromagnetic induction follows law of conservation
” of
(1) Charge (2) Energy
(3) Linear momentum (4) Angular momentum

7. Resistance offered by a Capacitor to D.C. 1s

(1) zero (2) negative
(3) positive (4) infinite
8. Mechanical analogue of inductance is
(1) Displacement (2) Velocity
(3) Energy (4) Mass
9. The classification of Eleptromagnetic spectrum is roughly based
upon

(1) How the waves are produced
(2) How the waves are detected
(3) Both (1) and (2)

(4) Wavelength of waves

10. If the atmosphere of earth suddenly disappears then duration of day

will
(1) Increase by 4 minutes (2) Decrease by 4 minutes
(3) Nochange (4) Can’t be predicted

BPH-EE-2019-Code-B
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11,

Pa

Two iron spheres, A (a solid sphere) and B (a hollow sphere), are charged
to same potential. Which of the two hold more energy ?

(1) A 2 B
(3) Both have same (4) Can’t be predicted
12. Two bulbs A and B of 25 watt and 100 watt, respectively, rated at 220V,
are connected in series with a supply of 440 V. Which bulb will fuse ?
(1) A (2) B
(3) Both will fuse 4 | None will fuse
13. When a charge particle moves through a magnetic field, it may suffer a
change in
(1) Energy (2) Mass
(3) Speed | (4) Velocity
14. Two electrons are moving parallel to each other in free space, then the
force between them w1ll be
(1) Attractive (2) Repulsive
(3) No force (4) Can't say anything
15. Current used for electrolysis is

(1) D.C. 2 A.C.

(3) Both of these (4) None of these

BPH-EE-2019-Code-B
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No.
16. A thin uniform circular discuss rolling down an inclined plane of inclination

/' 30° without slipping. Its linear acceleration along the plane is

(1) g4 2) g3
@) g 4) 2g/3
17. A projectile, fired vertically upwards with a speed v escapes from the

earth. If it is to be fired at 45° to the horizontal, what should be its speed
so that it escapes from the earth ?

1 v @ v/V2

@) f2v 4 2v

18. Which of the following substances has negligible elastic fatigue ?
(1) glass (2) copper

(3) quartz (4) silver

19. The modulus of rigidity of water is

(1) zero @2 1
3) 81 (4) infinite
20. The surface tension does not depend upon
(1) Nature of liquid (2) Temperature
(8) Presence of impurity (4) Atmospheric Pressure

BPH-EE-2019-Code-B
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21. A small insect enters the eye of person riding a bike, the person then
| applies sudden brakes to his bike without rubbing his eye and he found

that the small insect got out of his eye. By which law of physics the small
insect got out of eye

(1) Newton’s third law of motion  (2) Newton’s second law of motion

(3) Newton's first law of motion (4) Newton's law of Gravitation

22. Two bodies with masses m, and m, (m, > m,) are joined by a massless
string passing over fixed pulley. The centres of gravity of the two masses
are initially at same height. Assume the pulley to be weightless. Then the
downward acceleration of mass m  is

m, m,
2
(3) m, +m, (4) [ml+m2]
23. A block of mass 1 kg lies on a horizontal surface in a truck. The coefficient

of static friction between the block and the surface is 0.6. If the acceleration
of truck is 5 ms—2, the frictional force acting on the block is

(1) 4N (2 5N
3) 6N (4 10N

24. Two balls of different mass have same kinetic energy. The ball having
greater momentum will be

(1) Heavier one (2) Lighter one
(3) Both have same (4) Can'tsay
25. The moment of inertia of a ring of mass M and radius R about an axis
through the diameter in its plane will be
(1) 0.5 MR? (2) MR?
3) 1.5 MR*® (49) 2MR?

BPH-EE-2019-Code-B
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26. The strength of Weak nuclear force relative to Electromagnetic force is
of the order of
(1) 10-18 2 104
8) 10% @ 1on

217, Parsec is unit of
(1) Mass (2) Length
(3) Time (4) Frequency

28. If radius of earth contracts by 2% of its actual value and mass of earth

remains same then the acceleration due to gravity will
(1) Decrease by 2% (2) Decrease by 4%

(3) Increase by 2% (4 Increase by 4%

29. The position of an object moving along X-axis is given by x = A + Bt?,
where A=10m, B =2.5 ms 2 and t is measured in seconds. The average
velocity of this object betweent=1sandt=3s1is

(1) 10 ms-! (2) 15ms!?

(3) 20ms™! (4) 25ms!?

30. A ball is thrown at a speed 28 ms!in a direction 30° above the horizontal.
The maximum height attained by the ball will be |

(1) 25m (2 20m

3 10m (4 S5m

BPH-EE-2019-Code-B
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31.

~

A sample of oxygen and a sample of hydrogen have same mass, volume
and pressure. The ratio of their absolute temperature is

1) 1/16 @) 1/4
3) 4 (4) 16
32. The internal energy of a gas will increase when it
(1) Expandsadiabatically (2) Iscompressed adiabatically
(3) Expandsisothermally (4) Is compressed isothermally
33. If the absolute temperature of a perfect black body be doubled, then the
quantity of heat radiated per second increases by
(1) Twotimes (2) Four times
(3) Eight times (4) Sixteen times
34. The time period of a particle undergoing S.H.M. is 16 s. It starts its
gmtion from mean position. After 2 s, its velocity is 0.4 ms™!, the amplitude
is
(1) 2.88m (2 144m
3 0.72m (4) 0.36m
35. The speed of wave represented by y = A sin (o — kx) is

1) ke 2) ok

3) ok (4) loek

BPH-EE-2019-Code-B

(7)

L]
gcollegedunlae
India’s largest Student Review Platform

T



Code-B

Question Questions
No.
Part-B (Chemistry)
36. Which of the following is not a target molecule for drug function in
/ body ?
(1) Carbohydrates (2) Lipids
(3) Vitamins (4) Proteins
37. The pollutants released by jet aeroplane in the atmosphere as fluorocarbons
are called

(1) Photochemical pxidants
(2) Photochemic.al reductants
(8) Aerosols

(4) Physical pollutants

38. Which of the fpllowing pairs has the same size ?
(1) Zn?, Hf* (2) Fe?, Ni**
3) Zr*, Tit 4 Zr*, Hf*

39. The coordination number and oxidation state number of Cr in K,Cr(C,0,),
are respectively

(1) 3and+3 (2) 3andO
3) 6and+3 4 4and+2
40. Ionic solids, with Schottky defects, contain in their structure

(1) Cation vacancies only
(2) Cation vacancies and interstitial cations
(3) Equal number of cation and anion vacancies

(4) Anion vacancies and interstitial anions

BPH-EE-2019-Code-B
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